31
41 23

«TOHAP» Boinycka go 10.2005r.

Ocb ¢ Topmo3amu (200mm), 6anka 127 mm

TOHRAP

MALLUUHOCTPOUTE/IbHbIA 3ABOA

"TOHAP" Bbinycka o 10.2005r.

Mo3. |Ne [etanu HanmeHoBaHwue Kon-Bo
1]1042-2410020 Banka ocu 1
2(9746-3502070 BapabaH TopmosHon 0927002069 2
3[1042-3502240 Kopnyc onopbl pa3)kKMMHOro Kynaka 2
419746-3502105 Haknapgka TopmosHasa 4591254290 8
5[1285000821 3aknenka 64
6[1042-3502270 Cynnopt 2
719746-3502210/211 Kynak pasvmHomn 11
8[9746-3104015 Crtynuua (200 mm) 2
9]9746-3519010 Kamepa TopmosHas ¢ yanuHHutenem 5512300061 2

10[9746-3104076 anka 4
1119746-3104077 LLlan6a ynopHas 2
12]1042-2410023 3arnywka 2108-3724330 10
13]19746-3502132 Ocb konogxm 4




14{9746-3104079 LLlan6a ctonopHas 2
15(9746-3104090 Kpbilwka cTynuubl 2
16]9746-3104094 IMpoknagka 2
17{9746-3104095 Konbuo ynopHoe 2
20]9746-3502133 MnacTtuHa 2
21|9746-3502152/53 LLnt TopmosHown 2/2
23]9746-3502155 Lan6a 2
2419746-3502158 Lan6ba 4
25(9746-3502161 [Mpoknagka perynupoBovHas 6
26(9746-3502243 LLlanba 3awmTHas 4
28]1282000821 Bont M8x16 16
31[1282001020 Bont M10x25 TOCT 7805-70 2
32(1282001235 Bont M12x35 4
3411283001609 "anka M16x1,5 camOKOHTp. 4
37{1286030012 LWan6a 12T TOCT 11371-78 6
39(1286030008 Lan6a 8T NOCT 6402-70 12
4111286030010 Lan6a 10T TOCT 6402-70 2
4211286030012 Lan6a 12T TOCT 6402-70 8
4411287000436 LWnnvHT 4x36 2
45]2600890000 Maneu 12x40 OCT.37.001.163-75 2
4812640200000 Macnetka 1.3L6.XP FOCT 19853-74 2
4914591254269 MarxeTa 1,2-40x62-3 TOCT 8752-79 2
51[4591254271 Konbuo 038-044-36-2-3 8
52(4591254272 MoawwunHuk LLIC 40K TOCT 3635-78 2
5314591257522/23 MopwmnHmk ponuk. 7522A TOCT 520-89 4
54(4591254270 MarxeTa 2.2-180x220-3 MOCT 8752-79 4
60(4591254274 MpyxunHa konogok 54326-3501034 MA3 2
62(4591254221 Pobiyar perynvuposoyHbii HALDEX 100 001 021 2
74(1286010008 Lan6a 8 TOCT 11371-78 2
7719746-3104050-01 BonT KonecHbINn 20




